Make w the subject of the formula 4(g-w) =5w -3
4o — 4w = Sw -3
43+q = Sw +4w

434’3 = 9w
4qt3 = W
9
A4qt3%
W= oo q..
(3)
2. 4(a+p)=c+p+a
Express a in terms of ¢ and p.
gafk4p4:c-rp+a
Ya —a = <+ p—Fp
TJoo = < - 3p
7 C—-jF
#
C— 37
g 7



Make a the subject of 14a + 6w = ac + 8w

4o —ar = G —6w
a(le-c)= 2w

A = 2w
l4-c

Make x the subject of




5.

6.

Rearrange y + 3 = x(y + 2) to make y the subject of the formula.

3+3:>L34—2x

q— Xy = 2~ -3

'3(1-*9&) = 2 -3

1\

4

Z2x -3

] — o

Make a the subject of the formula.

1 1 —
a b
abe abe - &b
A L e
bc_ —_ & C = o b




7.

8.

Make a the subject of the formula

s=ut+ % atl

S-uk 3'%492
2(s-ct) =

'Z(S"'f/t) = 4

l:’!..

15— 2v€
Lz

Make w the subject of the formula

w_
g

q(w-5) =W
gr -S4 =W
£4

3\—\:-—»\) pa

w(gfl> = .SPj

w =

q4-1

at”

2(s-vt)
ac. . E5
(3)
or —S4
=3
54



9. Make y the subject of the formula ¢ = w - 4ay3

4&33 - w—-C
3 - W —¢
9 44
N
3 4a
10. Make x the subject of the formula
1T X
P=4x+ ¢
S
Sp = 20x 1T
Sp - x(zo+m)
Sp = x
20+TC




11.  Make v the subject of the formula.

s =7(u+v)t

2¢ =(UrV)E
25 = U'e—FVé

2s_ot = vt

2¢~-uvt = vy
>
2s-u€
V= €.
(3)
12. Make p the subject of the formula p -2 =r1i(y - 3p)
p-2 :7Tx-—}ﬂf
f>+3ﬂ¢ = Ty + 2
p(13m) =g 2
P = TTY+72
| + 3
TT Y + 2
| + 3



